
10. cvičení - výsledky

Příklad 1. smích

(a) ano

(b) ano

(c) ne

(d) ne

(e) ne

Příklad 2. smích

(a) ano

(b) ano

(c) ano

Příklad 3. smích

(a) 3, {(1, 1, 1, 2, 2), (−1,−2,−2,−2, 2), (19, 1, 1, 1, 1)}

(b) 3, {1, x, x2}

(c) 6,



1 0 0

0 0 0

0 0 0

 ,


0 1 0

1 0 0

0 0 0

 ,


0 0 1

0 0 0

1 0 0

 ,


0 0 0

0 1 0

0 0 0

 ,


0 0 0

0 0 1

0 1 0

 ,


0 0 0

0 0 0

0 0 1




(d) 2, {(1,−1, 0), (1, 1, 1)}

(e) 3, {1, x, x2}

Příklad 4. smích

(a) ano, {(0, 0, 0)}, {(a, , a+ b, b) : a, b, c ∈ R}

(b) ne

(c) ano, {f ∈ C(R) : f 1-periodická}, C(R)

(d) ano, {f(x) = 0∀x ∈ R}, {f ∈ C1(R) : f(0) = 0}

(e) ano, {f ∈ C1(R) : f(0) = f ′1) = 0},R2

(f) ne

Příklad 5. smích

(a) ID

(b) ID

(c) PSD
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(d) PD

(e) ID

(f) PSD

Příklad 6. Násl. výsledky jsou ve formátu (vl.č., násobnost, vl. vektory)

(a) pro a ̸= 0 : (a, 1, {(t,−t) : t ∈ C\{0}})(−a, 1, {(t, t) : t ∈ C\{0}}. Pro a = 0 : (0, 2, {(t, s) : (t, s) ∈ C2})

(b) (0, 3, {(t, t, 2t) : t ∈ C \ {0}})

(c) (2, 1, {(t, t, t, 2t) : t ∈ C \ {0}}), (1, 3, {(s, t, 0, s) : (s, t) ∈ C2})

Příklad 7. smích

(a) vždy ID

(b) PD pro a ∈
(
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, ID pro a ∈
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